BRX-ETT A HE LR A A (EREREIR)

YRk 244E5 A 1 B BE
woo 5 LS QL
171,428 87,995 83, 433 97,321
S R S— S 7 R S—
CINED, o ks (B T4) | F %

A # 1 T B 1,103 1,825 998 827 [ 1 T H 833 | 1,537 770 767
B W2 T H 883 | 1,512 773 39| |F 2 T H 375 650 343 307
B R 3T HB| 1,235 2,169 1,084 1,085| [ 3 T H| 1,067 1,998 972 | 1,026
B W4T H 805 | 1,360 703 657 | | 4 T H 404 750 339 411
WA 1T H 595 | 1,047 532 515| (B9 )2 1 T H 847 | 1,336 656 680
o o#& 2 T H 675 | 1,148 556 592 | |B9 )2 2 T H 495 800 397 403
KEBLT H 595 967 473 494 | |[dE EH 1T H 593 989 507 482
KEE2T H 751 1,369 672 697 | (A E®2 T H| 1,521 2,568 | 1,362 1,206
KEMB3IT H 861 | 1,505 762 3l | F 1T H 964 | 1,761 878 883
KEE4T H 307 489 265 224 | [F & 2 T H| 1,58 | 2,877 | 1,374 1,503
ERE®S T H 813 | 1,369 736 633 | |F & 3 T H| 1,063] 1,747 852 895
BB 1T B 777 | 1,376 702 674 (& &= 1 T H 519 815 416 399
5 #2217 B 530 974 494 480 | |# = 2 T H| 1,068 | 1,667 897 770
B oAr 1 T B 304 444 236 208 | (AR & 3 T H| 1,549 | 2,798 | 1,353 | 1,445
Al 2 T H 608 970 479 491 [#R B2 4 T H| 1,278 2,543 | 1,229 1,314
AT = 715 | 1,165 580 585 | 1M & 5 T H| 1,827| 3,687 | 1,771 | 1,916
B oAl 4 7 H| 1,202 2,063 1,026 | 1,037| |[A & 1 T H| 1,598| 2,889 | 1,417 | 1,472
MNE 1T B 970 | 1,648 813 835 |A &2 T H| 1,222| 2,286 1,115| 1,171
N E 2T H 680 | 1,247 616 631 | |®& & 1 T H| 1,087| 2,014 1,016 998
= 1 T H| 1,027| 1,833 913 920 | |®& & 2 T H| 1,122| 2,398 | 1,165| 1,233
— 52 71T B 913 | 1,644 869 775 [#& R 3 T H| 1,508 2,657 | 1,355| 1,302
®oOEH 50 58 39 19| a1 T H 541 998 505 493
%% 1 T H 353 608 274 334 | |23 27T Al 1,094 | 2,064 | 1,043 1,021
8% 2 T H 75 121 59 62| kA28 37T Al 1,105 1,950 | 1,056 894
% 3 T H 316 566 299 267 | (A4 T H| 1,257 2,219 1,088 1,131
8 4 T H 34 58 28 30 |HE&EELT H 511 828 392 436
% 57T H 326 499 265 234 | [ E 2T H| 1,420 2,218 1,166 | 1,052
8 6 T H 132 245 132 13| |[PE & B3 T H| 2,043 3,769| 1,889 1,880
%77 H 575 999 513 486 | | M 1 T H 700 | 1,279 616 663
W EB1T A 591 | 1,012 518 19 |EM 2T H 824 | 1,428 706 722
w2 T B 322 523 241 282 | | B 1 T H 757 | 1,403 703 700
W EB3T A 774 | 1,355 637 718 | | 2 T H| 1,415| 2,447| 1,236 1,211
W4T B 596 948 506 442 | |¥%& ¥ 3 T H| 1,521 2,627 | 1,247 1,380
W EB5T A 752 | 1,412 733 679 | |¥& ® 4 T H| 1,434| 2,568 | 1,294 | 1,274
W EEe6 T H 838 | 1,668 805 863 | |¥& ¥ 5 T H| 2,118| 3,954 | 2,021 | 1,933
TTEELT B 981 | 1,809 926 883 | | ® 6 T H| 1,500| 2,786 | 1,377 | 1,409
T 2T B 435 732 392 340 | [ #= 7 T H 366 663 324 339
T3 T H| 1,026 1,785 891 894 | HEJI 1T H 544 | 1,021 507 514
TLEEAT B 682 | 1,326 638 688 | |HEJIIF 2T A 654 | 1,210 593 617
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wrrs) B TER T B
T ® 17T H 930 | 1,717 906 811
T H 2T H 994 | 1,820 921 899
T 3 T H| 2,058| 3,290 1,807 1,483
T &k 4 T H| 1,709 2,699 | 1,573 1,126
A F 1T H 676 | 1,233 608 625
A 7 2 T Al 1,650 2,830 | 1,536 | 1,294
WEE1LITH 803 | 1,614 826 788
WEHE2T H 809 | 1,539 854 685
% 1T Al 1,707 3,545 | 1,852 | 1,693
% Y% 2 7 Al 1,152 2,179 1,076 | 1,103
W )II1 T H| 1,107| 2,008 | 1,147 861

w2 T Bl 2,759 3,601 2,597 | 1,004
HAELT Bl 1,944 2,815 1,945 870

HALE2 T H|l 1,887] 3,116 | 1,782 1,334
= W1 T H| 1,247 2,059 | 1,030 | 1,029

— w21 H 452 758 396 362
M2zl T B 242 450 214 236

w2 T Bl 1,253 2,139 1,033 | 1,106

.z w3 T H 224 388 199 189

w4 T H 752 1,411 652 759
R /N 132 217 150 67
B ALITH 667 | 1,294 608 686

LEREA2T H 426 878 431 447

rH 1T H 405 764 348 416
N A = 896 | 1,616 780 836
A 37T H| 1,492 2,605| 1,245 1,360
® 4T H 282 526 268 258
®H 5T H 482 845 408 437
® 6 T H 190 372 178 194
s 7TH 573 | 1,053 500 553
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